e0®
™ b Guys (tr)uSDX Aluminum Case

@  (tr)usDX o @ @O

€
PA ‘ ————>  Audio

—>

C
DL2MAN / PEINNZ < Mic/Key

Menu Enter PTT

O O O O

Ref. Freq.

@ @ @ O Chassis by QRPGuys.com O @

O
|
|

DIFFICULTY LEVEL
EASY SMT

!

First, familiarize yourself with the parts and check for all the components. If a part is missing, please
contact us and we will send one. To request a part, please use grpguys.parts@gmail.com. Please read

all the instructions carefully, and do not proceed if you are unsure.
Parts List

1 — QRPGuys (tr)uSDX top cover, bottom cover, side assembly
4 — M3 x 6mm long non-threaded round nylon spacer

4 — M3 x 6mm long M/F threaded hex nylon spacer

4 — M3 x 12mm long threaded hex nylon spacer

4 — M3 x 12mm long Phillips flat head SS screw

4 — M3 x 6mm long Phillips flat head SS screw

2 — M3 x 5mm long ultra thin pan head Phillips SS screw

4 — 009 o-ring

4 — self-adhesive rubber foot

The only tool required is a small Phillips screwdriver

Page 1 of 5

trusdx_case_assembly 052724 pdf



The scope of this kit, involves removing the pc boards from the 3D printed case if you purchased that
option, or from a kit without a case. Read the instructions carefully.

M3 X 12MM F.H. SCREW —

TOP COVER
M3 X 6MM NON-THD. ‘ /ﬁ

|
NYLON SPACER
\m /—MM BOARD
M3 X BMM M/F

NYLON SPACER \

)|
%E f RF BOARD

1
|
i
58] ~009 0—-RING
T r— N

[
SHb M3 X 12MM THD. SWALES
'L NYLON SPACER M BOTTOM COVER
il w

M3 X 6MM F.H. SCREW /%

This is the corner hardware sequence

[ ] Stretch the o-rings over the four M3 x 12mm nylon threaded spacers and attach them to the
bottom cover with the M3 x 6mm flat head screws. Slide the o-rings near the top of the spacers.
The four o-rings keep the side assembly centered with the top and bottom covers.

~009 0O-RING
M5X12MMTHD\H® @H@
NYLON SPACER 4\\

L Ju

it
=

M3 X 6MM F.H. SCREW

[ ] Place the RF board on the four M3 x 12mm nylon spacers and secure with the M3 x 6mm M/F
nylon spacers.

M3 X 6MM M/F
NYLON SPACER

EES

il L
[ === o HE
RF BOARD

I

Page 2 of 5 trusdx_case_assembly 052724 pdf

=
S




[ ] Carefully spring open the side assembly enough to place around RF board allowing the SMA
and other 1/O connectors to protrude through the side assembly. Do not install the screws to the
side assembly yet.

SIDE ASSEMBLY
'ﬁ SCREW HOLES TO THE REAR

[ ] Place the main board on the four M3 x 6mm M/F spacers while plugging in the SIP connector.

[ ] Loosely install the two M3 x 5mm thin pan head screws into the side assembly. The o-rings
will act as centering devices for the side assembly. Squeeze the side assembly against the
o-rings and tighten the two pan head screws.

M3 x dmm THIN PAN
HEAD SCREW

Page 3 of 5 trusdx_case_assembly 052724 pdf



[ ]

Place the four M3 x 6mm non-threaded spacers at the four corners, align the speaker with the

two small holes in the cover, and secure the top cover with the four M3 x 12mm flat head

screws. Reinstall the encoder washer, nut, and knob.

M3 X 12MM F.H. SCREW

MS X 6MM NON—THD.
NYLON SPACER

1|

I|‘|'|| I“I
LT

[ ]

N
LI
o
|

Attach the four self-adhesive rubber feet where indicated on the bottom cover artwork.

=Q

Serial #

Ref. Freq.

@ O Chassis by QRPGuys.com

Oe

O=

This completes the assembly. There is a space provided on the bottom cover for you to enter your
individual serial # and the reference frequency from calibration.

Page 4 of 5

trusdx_case_assembly 052724 pdf



Shielded case addendum:

Due to the design of the (tr)uSDX we have seen no change in the performance of the transceiver with a
shielded vs. an unshielded case. Obviously the 3D printed plastic case is unshielded, and so is this
anodized aluminum case, as the anodizing process is actually a form of an aluminum oxide coating.
However, there still will be some that would like to have the case at ground potential. With the
procedure below it can be accomplished with this addition.

The main board and rf board are grounded at many points through the SIP connector. So, all that
remains is removing some of the anodizing around the screw hole under the top cover, bottom cover,
and corner of the side assembly. Form a connection with a single thin strand of bare wire between the
three points, and under one of the nylon spacers so it touches the ground annulus of RF board M3
corner pad. Use any one of the four corners.

CLEAN OFF ANODIZE FROM
TOP/BOTTOM INSIDE

AROUND SCREW HOLE =
AND EDGE OF SIDE ASSY.

E

4

Route a single strand of bare wire (.005-.008”) from a short piece of #24 or 26awg stranded wire as
shown tying the three cleaned surfaces to the ground around the pcb hole. Clip the strand flush where
is exits the case.

Page 5 of 5 trusdx_case_assembly 052724 pdf



